2P09%4 guotgbooobguuoob oo oonoogn
gooooogd

0'ACT-JSTO?2000000 o OO0 OO OOOODO?

0000000000000 00000000000000000000000000
000000000000000000000000000000000000000
000000000000000000000PIMCO0D0000O000ONOO PIMDO
O00000000000000000000000000000000000000
00000000000 00000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000 D000000000000000000000000000
DOo0O0oO0ooDooo

000000000000000000000000000000000000000
000000000000 D000000000000000000000000000
0000000000 (CMD)1]0 0000000000000 (EPAC)[2000000
DO0O0CMDO Feynman 0000 00000000000 Vi(¢)OODODOOOOODO
00 PIMCO PIMDO OO V§(q) 000000000 Vg(q) DOD0OO0DO00ODO
00000 mé.(t) = —0Vs(q.)/0q. 0000000000000000000000
cgMP()DOD00oOo0ooO CgMP(HO000000000 cy™(t)0000000000
CMDOOOO0O0O0O0O0O0O0O0 C§™MP(H) =0y (r) 000000000000000
Cp(w) = (Bhw/2) (coth(Bhw/2) +1) C§™(w) 00D DO0DO0D0O0000 Cs(t)0 000
D0O0O00EPACODOOONOONOONOOOOOONOODOONOOOOOOD Va(Q)0
000000000V(Q) D PIMCO PIMDOOOO0O0000000OVS(¢)0000
0000000000 00000000 V3(Q)D00000000000 Ge(r)000
O0000000000000007—#0000000000000 Ce)00000
0DOCMDO EPACODOOOOOOOONOOONOONONDNDONOONONONONONDOOONOOO
00O [2]0

D0 CMDODOOOODODOOOOODO (Gt)A0)s0 (h(t)A(0), 00000000
000 ¢,p00000000000000000000 {(¢2(t)§*0)s 00000000
00000000000 CMDOOOOODO0OOOO0OOO00O000O000000
Vig)=(1/2)muw? 000000000000000 g0 CMDOOOODO

(@O = 5 coswt

0000000000000 (G#)§0)$ = (1/8) J¢ d (Gt —ihM\)§(0))s 0000000



00000000 ¢oecMbOOoOoon

@EORONT = S (coset +2)

gogguodaboabodd

<@2(t)ﬁ2(0)>%an = he_ [eoth(5hw/2) cos 2wt +

2
= ———+1
Am2w? Bhw/2 sinh?(Bhw/2) *

0000000000000000000000000 Reichman 00 OCMDO OO
000000000000000000000000000000000000000
000000000000000000000000000000000000000
3000000000CMDODOOODODNO00OODDO0D0 ((H)E0)5"
(1/8) [P dx (¢2(t — ihN)@2(0)), 0000 0000000000000000

2 (B A
@OPO)F = 5 [ ax [ dn @l )i i) ()
ooobooboococMbOOOOODOODOOOOOOoOOoOoDbDOoOoDOobObObDDbbDODOD
guobobobbboobuooboooouooobobboobobooobobbon
000 3]0
OO0 EPACOO0O0DODO0OOOODCOOOOOOODOOODOOUOOUOODDODO
O000000DbO00ObO0O0O0O0Db0bO0O0D EPACOODOODOODOODgOODDO

h h
<c](t)d(0))§c =5 lcoth ﬂQW coswt — isinwt

000000000000 ¢*0000

@O0 =

h
= 0 [2 coth ﬁQw (coth Shw cos 2wt — i sin 2wt) +
mw

2
snﬂﬁ(ﬁhw/2)*_1
00000000000000000 {4(t)§(0))s0(¢%(t)§*(0), 000000000 [40
CMDOODO EPACOODDODOOOOOODDODODODOEPACOOODOOO
D000000000000-00000000000000000000000000
0000000000000 00000000000EPACOOO0O0O0OODOOOOO
0000000000000 6=4¢?00000000000000 Us(e)0DDOODDOO
000000000000000

1] J. Cao and G. A. Voth, J. Chem. Phys. 99, 10070 (1993)

2] A. Horikoshi and K. Kinugawa, J. Chem. Phys. 119, 4629 (2003)
3] D. R. Reichman et al., J. Chem. Phys. 113, 919 (2000)

4] A. Horikoshi and K. Kinugawa, in preparation.

[
[
[
[



